oboooboobuooboboboobouoooon

gbooboooboogno OoobO oo

1 Wilson fermion OO0 OOOOOD0OO0O0O

QCD Mult O Wilson OO0 O0ODOOOOOOOOODOOCDODOOOOOOODOOOOOOODODOOD
uoboooooboooooboooboboobbobooboooobooobobooooooooobon
OO0 Wilson O (CO0OO0O00O0OD0)00000000O0OD0O0O0O0O0ODO0O WisonOOOOOOOOODO
uboooboooon

—a b
S= Y Paln)D(n,m)y5h(m), (1)

n7m7a7ﬁ’a7b

00000000000 n=(ngny,n:,n)0a, 00000000 (00 4)0e, 60000000

a,b
0 (00 3)0000¢(n)00000D(nm),0
a,b a, a,b
D(n,m), 5 =29 20 30nm — K Mult(n, m)y g (2)

OO000000D0OxkOODOODODOCOOCDOOOODOOOMUWtOOOOOOODODOO QCD Mult
000000006,;0¢=5700 104400 00000000000000000
MutOOOOGOGOooooooo

4

Mault(n, m)%% = 3 [0 = )y (U)o + (L 35 (U0 = )0 m]  (3)
pn=1

000 0000000000 0p0 1000000 100y000p0 100 z000x0 10
|:|tDI:IDDI:JDUﬂ(n)DDDDDDDDDDDDDDDDDDDDDDDDD 3x3000Oooono
000 sSu@3)boo0o00o00o0 wOO0OD0O0O0D0O0OO0O0O00UOA0 pODOOOOOOOO
oooooooo0oo000n+p0000 n00 000 410000000000+, 00000
O00oooobooooo4x4000000000

7#71/‘1"71/7#:6#,1/' (4)

0000000000 4,00 (p=1,2,3,4)000000000 (0000000000000)0

1.1 Dirac 00000 (0O00O0D00O0O)
oo~y 00000000000

00 0 —i 0 00 —1
oo —io o 01 0
T 1o 0 ol Tl o 10 0 |’
i 0 0 0 100 0
0 0 —i 0 10 0 0
00 0 i 01 0 0
= 9 - ) 5
s i 0 0 0 m 00 -1 0 (5)
0 —i 0 0 00 0 -1

ggoond



1.2 0000

Udbt—-z2—y—2000000000000OO00O00O0O0O0O0OOOODOOOOODOO0OO0N

ugod

1.+000000000

000 0
000 0
1—my) = ,
(1—4) 00 2 0
000 2
200 0
0200
1 — )
(147) 0000
000 0
0o0o
3
Mys(n) = 2x Y U(n) x yh(n+4),
b=1
3
Myi(n) = 2x Y UP(n) x gh(n+4),
b=1
3
Myi(n) = 2x Z(Uf’“(n —4)* x yf(n —4),
b=1
> b
Mys(n) = 2Xx Z(U4’a(n —4)* x yh(n —4),
b=1
0a=1,230 n0000000000
2. 000000000
1 0 i 0
0 1 0 —i
1—~g) = ,
(1=73) i 01 0
0 i 0 1
1 0 —i 0
01 0 i
]. — 9
(14 73) i 0 1 0
0 —i 0 1




oon

hlp®

h2p®

hln®

ngb X (y(n +3) +i yh(n +3)),

ZU;“’ (45(n+3) —i yh(n +3)),

3

ST (n = 3)) x (yh(n—3) —i gh(n - 3)),

b=1

3
S (R (n = 3))" x (yh(n— 3) +i yi(n - 3)),
=1
Myf(n) + hlp® + h1n®,
Mys(n) + h2p® + h2n?,
y§(n) —i hlp® +i hin®,
(n)

U“

= =

a
1
a
2
a
3
yg(n) 4+ h2p® —i h2n?,

0000000 hlp® h2p® hlme, h2me 0000000000

J.yUubooooood

gon

hlp®
h2p®
hln®

h2n®

Myf(n)
Mys(n)
Mys(n)
Myg(n)

1 0 0 1
0 1 -1 0

1— g

(1=2) o -1 1 ol
1 0 0 1
1 00 —1
0 11 0

1 =

(14 2) 0o 11 0 |’
100 1

ZU&”’ x (g3(n +2) + gh(n + 2)),

0000000 hlp®, h2p®, hlme, h2me 0000000000



4. :0J0D0O0ODODOOO

1 0O 0 ¢
0 1 2 0
].— — )
(1=m) 0 —i 10
- 0 0 1
1 0 0 —2
01 — 0
]. - )
(I+m) 0 i 1 0
i 0 O 1
ggno
hlp® = ZUlab x (fn+1)+iyin+1)), (26)
h2p® = ZU yz(”+1)+z y3(”+1)) (27)
3
Pnt = 3 (U — 1) x (o — 1) =i hin — D)) (28)
b=1
3
hant = (U (n = 1) x (h(n — 1) — i yh(n — 1), (29)
b=1
Myf(n) Myf(n) + hlp® + hln?, (30)
My3(n) = Mys(n)+ h2p® + h2n?, (31)
MyS(n) = My§(n) —i h2p® +i h2n, (32)
Myg(n) Myg(n) —1i hlp® 4+ i h1n?, (33)

0000000 hlp®, h2p®, hlme, h2me 0000000000

2 O(a)000

OO0 QQCboOoDoOOO0DbOoOO00OU0bOoUoOUOoDbDO0OUobOUOUOoDUODDOODOOd a
gooooooobooboobde—0000000000O0DO

0000 (2)0000000000D000 O(e)0D0O0ODODO0OODODOOOODODOOOOODOODODOO
000000000000000 1/a=2-3GeVOOOO0000000O0O0(e)0000 Agep ~
0.3—-0.5GeV 0000 00(aAqep) ~0.1-03000 10%00 20%000000000000000
ugbobooobooooobbooboooooboobobon

0000000000000 (2)DoO0U000O0O000D0O0O00D0DDOODO0UDOOOOOOOoOOO
0O0O(i0OO00000O0O0CO0O0O00O000O0O0OOOO0OO0DODUDUDOODOODODODODODOODODO
gooobodoobooboood

000000000000 0000O (2)Dooooooood

Dor(nm)ty = 6280, g0 m + csw oy (n)onm — i M(n,m)2,

= F(n)20nm— K M(n,m)2, (34)

0ooO
F0(n) = 0“0 5+ cswEeb(n) 0 (35)



U0d00csw O O(a)DDDDDDDDDDDDDDDDDDDFS’g(n)DDDDDDDDDDDD

12x1200000000000000O0OFDOODOOODOOODOODO
uboooboboooboobobooooobbon

Dcr(n, m)i% = 6“8, 50nm — K (Fﬁl)Z”%(n)M(n, m)i”%, (36)

0000DO0OMOODODOOF'0O00D00O00O0OO0
000000000 FlO00006x60000000000000000 (0000000OO0)O
00 6xeD000000000b0o0ooobooooooooooooooboogoo

fclinv(1,7) fclinv(2,4) felinv(3,i) fclinv(4,7) felinv(5,7)  fclinv(6,7)

fclinv(7,4) felinv(8,7)  felinv(9,7) fclinv(10,4) felinv(11,4)
Pl fclinv(12,4) fclinv(13,4) fclinv(14,4) fclinv(15,14) (37)
’ fclinv(16,4) felinv(17,4) felinv(18,i) |’
fclinv(19,4) fclinv(20,4)
fclinv (21, 7)

O00q:¢:=1,20flinv000 21000000000000000000O0O0O0DOOOOOODOOOO
0oooooooo F-toooo

po_ [ PR R Ry (38)
- *Ffl +F271 Ffl +F271

3 5000000 (@DO0O00ODooOOoOoOon)
00000000000000000 De, O

1+ 1-— )
Doy = 5 + —Lyssign(Hu(Mawn), (39)
gopogoogdg
1
Hy (Mawh) = 75 ((4 — Mawn) — 2M> , (40)

gooo0ooooooooooooooooonod
Dyyxz = b, (41)

gboooboboboobooboooboobobobooboboobooobbooobooooboobbobon
gooooboogoooobooobooboobboooooooboooboooooobboooboboooo
gogdsbobobooobbob 4000000000000 O0ODOODOOOOOODOO0OD
gobogooo4b0b0o0boobooboooobboooboboobooobbooboobDboon s
gbobooboo 40b00boboooooboooooooobboobobooobobobooobooD
oobooooooooo

000000000000000 3000000000000 00 (Euclidean Cayley transforma-
tion)/0 0 0000000000000 U0OO00OOOOOOOOO0OOCOOODOOOOUOOOOOO
ooo

oboooboooboobooboooooooo

B = Pb, (
D5DeffX = B7 (
r = QX. (

=
= W N
—_ D —



pPRODOOO0OO0ODOOODOODOODO0O00O00DODspeg DO 0OOOOODDOODODOOODOOO
gooobobooboobbog

1 1

Dspegt = K — 5 M, or Dspeg =1~ 5 LM. (45)

O000K,LO
Ka,a;bﬁ(ﬁv T?L) = Ka;ﬁ(n57 m5)5(n7 m)5a,b (46)
Kop(ns,ms) = K (n5,ms)(1 —75)as + K (ns,ms)(1+75)a,s (47)

K*(n5,m5) = K+(m5,n5)

—~
>
oo

)
oooooobooMODbDOO0O 400000000000 S0b000OooDbOobDOO0ODObDDbDOOn
LcMyoogogoooooooo L, KOoobooooooooobooooooooboo 4b00D0O
000000 5000000000000 00DODO0O0O00D0ODDOOODOOOOO (h00ODDOOOO
000000000 00O0ooOoU0oooooooo)o

gboboooobobooooboobobooboboboooob0 Hw OO OOOOOOOOOD
goobooboboobooooboooobboobb HwyOOOooOOooobooooboobooo
gbobobo0toHy OOooooooooobobboboolb +10 —10000000bbO0000
oobobidU0HyOOoooobooooooooboo

HyV, = VilAg, (49)
Vi = (vi,v2,---,0k), (50)
Ak‘ = dlag (>‘17)\27"' a)‘k‘)? (51)

040000000000 000000000000000000 HyOOOO

fIW = HW"‘VkaV;j, (52)
X = Shift(Ag) — Ag, (53)

00000000000000000 K,L00000000000500000000
3 o g 1-
D5Deg:K—§(M+WkYkZ,Z), or D5Deg:1—§L(M+WkYkZ,1). (54)

O0DO0D0O0O0K,L, Y, (kxkOO), We = (wi,wa, - wi), Zi = (21,22, » ), (wj, zj:4d-fermion
vector) 0000000000000 0O0OOO0OOO0OOO0O0O0OOOOOOOOOOOOOOO
OD0dd00oodoooouoooooooooooooooooooooooooooooooooo
0000000000000 0Hy OO0O0O0O0oOoODOODOOO0OO0O0O00 W, Z, 000000000
Ododdosboooooboooooooooooooooa WkYkZ,ZDDDDDDDDDDDFIWD
O000ooooobooooooboodoboooobooooo o000 ooooooooooooon
oddoooodooboooooooooooooooooouooooooooooooogd
Oododooooooooooouooobooooa

ws) = 3 )ly(s,m) (59
k
ci(s) = Y (V)ija;(s), (56)
j=1
k
h(s,n) = h(s,n)—i—Zwi(n)ci(s), (57)
i=1

0000000000000 DO000000D00000 kxNsODDOO ei(s)00000000 Y0
ExkOOOOOOO N;00000g(s)D00000000000000000 h(s,n)0 wi(n)e(s)
ooooooooog kobboo



4 0O0OO0OO0OO
0000000000 00000

Z=UKV o Zp = Up KU — Ui KV, 2 = Up ¥ U+ U K Uy, (58)

O000d 6 flopm

Zz=u+v < Zr=Urtv;,%2 = U+ U, (59)

000 2 flopO
00000000000 +s000000000000000 0fop0O00O

SU(3) 00000000000

w1 Uil U2 U3 U1 U1l kY1 + U1 * Y2 + U3 * Y3
wa = U1 U2 U3 Y2 = U2l * Y1 + U2 * Y2 + U3 * Y3 |, (60)
w3 u31p U332 U33 Y3 U31 * Y1 + U32 * Y2 + U33 * Y3

0000000009 000060000000 9%x6+6+x2=66flopd000 (FMA)OOODO 6(1
flop+5 FMA) = 6 flop+30 FMAD

goboboboboooooboboooobg ooobobbooobbooboooboooooooon
gbooooboobooboboobdez,y, 2000000000000 20000000000000
gooogbooooobbooboboboboboood:ooobooooboobg 200000 20
goodg

tdooooobobooobooobooooooooboobboo 2000b0b0bO0bObDDbbD 20000
00000 6«2=12flop000000DOOCO0O0OO0O0O0OOO,y,z00D00000C00000DODO
O00DO00Db00D00O0 2000000000000 0ObOOOODO 6x2=12f0pd0000ODO0O
gooobooogooboooboooooobobooobobOobDb0oboooobD40000Db O
OO00O0OO000ODO0O00 24flop000ODDO 36flopO0DO

gooobooooboobo0 DobobobobbO0o0 exeb00O00OOOOODDOODOO 20
gogoboooboboooooboobboboobooooboobooboboooboooooobobooobOooDD
000000000 012«x20000000000 48flop6x600000000000O06000O
0000000000000 0000 6000000500 6000000 (6%x6+5%2)%x6=276
flopO0 000 2000000 552 flop0 000 600 flop OO0

WilsonOO hopping 00000000 0OOO1000000000DOOCOOOOOOOODOO
gobooooogoboodan



00 000 (lop)[FPOOC0DD] |0000000 (cmplx) [0000000 (cmplx)
t+ 66 * 2+12=144[18+12+(12)] (649) (mem) 12 (reg)
t— 66 * 2+12=144[18+12+(12)] (6+9) (mem) 12 (reg)
2+ 66 * 24+36=168[18+24+(24)] | (1249) (mem) 12 (reg) 12 (reg)
z— 66 * 2+36=168[18+24+(24)] | (12+9) (mem) 12 (reg) 12 (reg)
y+ 66 * 2+36=168[18+24+(24)] | (12+9) (mem) 12 (reg) 12 (reg)
y— 66 * 2+36=168[18+24+(24)] | (12+9) (mem) 12 (reg) 12 (reg)
T+ 66 * 2+36=168[18+24+(24)] | (12+9) (mem) 12 (reg) 12 (reg)

x— 66 * 2+36=168[18+24+(24)] | (12+9) (mem) 12 (reg) 12 (reg/mem)
clover 600[42%2+4-24+24+(24)] (21*2) (mem) 12 (reg) 12 (mem)
total(wilson) 1296 156 (mem) 72 (reg) 12 (mem) 84 (reg)
total(clover) 1896 198 (mem) 84 (reg) 12 (mem) 96 (reg)

0 1: 0000000000000 00C000C0O0((mem)0000/00000000000 O(reg)
goobooboobbDOobooonoooooob register 0D OO0 O0O0OOO0OOOOOOOO

regU00000ODODOOOODOOOOOOODOOODOOODOOOOOOOOD 20000

Wilson hopping
(1296 flop):(168 complex)

7.714 flop/complex
0.1296 complex/flop

0.9643 flop/byte(S.P.)
1.037 byte/flop(S.P.)

0.4821 flop/byte(D.P.)
2.074 byte/flop(D.P.)

Clover hopping
(1896 flop):(210 complex)

9.029 flop/complex
0.1108 complex/flop

1.129 flop/byte(S.P.)
0.8861 byte/flop(S.P.)

0.5643 flop/byte(D.P.)
1.772 byte/flop(D.P.)

U20000000000000b0o0o0o0d

goooooooooboobobooob ooboobooboobobOoOoOOobOOobooboboboobobo0ogon
goooooboobooboooobooboobuoboo 20b0oboO0obOO0ObOO0ODOODOOO
gbobbobob400000000000DODOO0OODOOODODOOODDOOD 8ODOOOO
vobbooboooooooooboobbooobboboooobbooooboOobbbobOoobOon
gooobgobbgobooboooooooboboboooooooobobooooooooboooboooon
00000 1/80000

gbooobooobooooobooobooooooooooobobDooooobOoDboo

0o 000 (flop) 0000000 (cmplx) 0000000 (cmplx)
i+ 144 (12/8 +9/2) (mem)(12 % 7/8 4+ 9/2) (cache) 12 (reg)
t— 144 (12/8 4 9/2) (mem)(12 % 7/8 +9/2) (cache) 12 (reg)
z+ 168 (12/8 +9/2) (mem)(12 % 7/8 +9/2) (cache) 12 (reg) 12 (reg)
z— 168 (12/8 +9/2) (mem)(12 % 7/8 +9/2) (cache) 12 (reg) 12 (reg)
y+ 168 (12/8 +9/2) (mem)(12 % 7/8 +9/2) (cache) 12 (reg) 12 (reg)
y— 168 (12/8 +9/2) (mem)(12 % 7/8 +9/2) (cache) 12 (reg) 12 (reg)
r+ 168 (12/8 +9/2) (mem)(12 % 7/8 +9/2) (cache) 12 (reg) 12 (reg)

r— 168 (12/8 +9/2) (mem)(12 % 7/8 +9/2) (cache) 12 (reg) 12 (reg/mem)
clover 600 (21 % 2) (mem) 12 (reg) 12 (mem)
total(wilson) 1296 48 (mem) 120(cache) 72 (reg) 12 (mem) 84 (reg)
total(clover) 1896 90 (mem) 120(cache) 84 (reg) 12 (mem) 96 (reg)

03:0000000000000000000000((mem)0000/00000000000 O (reg)
obobobbooooobbOoooobOb register DO0OODOODOOOODODOOODODOO




gbgooogoobobbobboooooooboooobooboobo ooobboboobDenon
gggd

Wilson hopping 21.600 flop/complex 2.7 flop/byte(S.P.) 1.35 flop/byte(D.P.)
(1296 flop):(60 complex) | 0.04630 complex/flop | 0.3704 byte/flop(S.P.) | 0.7407 byte/flop(D.P.)

Clover hopping 18.588 flop/complex | 2.3235 flop/byte(S.P.) | 1.1618 flop/byte(D.P.)
(1896 flop):(102 complex) | 0.05330 complex/flop | 0.4304 byte/flop(S.P.) | 0.8608 byte/flop(D.P.)

04 0000000000000 00DO0O0

uogoooboooboboobobooooobooboboooobooooboooooboobooo
gobooooob2000bo0oo0n

SU3)000000o0O00o000oo0o0b0 UOopoooOosSy@)ooooo9ooooooooo
00000000000 800000000 DOOO08OOODOODOOO SUB)Looooooooo
v OsincosU0DDOOOOOOOODODOOODOOOOOOO00O00DO0O00000O0 SU(3)
00000000 (Doo0)ooooO0oo0O0 (DO0b0)0D0D0oUoOoOOOO0OODOO0DOoD0bOOOoOoOoOo
ooogooooo

(u3)1
U= (w)2 (u2)2 (ug)2 | = (u1,us,us), (61)
(u1)z  (u2)s (u3)3

0000w 0 SUB)0D0ULD (00000000000 000O SU)boooooooooao
U3:(U1 XUQ)*, (62)

O000000x0000*00000000000000000000 w,ue 0000000 Eq. (62)
oboob wOoboooouvobooboboboon

O00000o000ooO0oO0bDOO0OD 2/30000Eq. (62) 000000000000 600000 3
000000 6x6+3x2=42flop00000000000O0O0OO (246 FMA)*3 =6 flop +18
FMAOOODO

ubobbouogbobdouoboiud «s bbb obuoooooubood w,uwpedoooo
gogoboobobobdbwbhodbobogouoobboboooobooobobbgoboobgooay
uogoouoouobooobobooobbobooboboobobooobboboooboooaooo
gbobooooooooooooboboboobbobobooooobboboooooobon

gobooooooooooooobooooboobobobooboo sgobo



00 000 (fop) 0000000 (emplk) |0000000 (cmplx)
t+ 42 + 66 x 2+ 12 = 186 (6 4+9%2/3) (mem) 12 (reg)
t— 42 4+ 66 * 2+ 12 = 186 (64+9%2/3) (mem) 12 (reg)
z+ 42 4+ 66 x 24 36 = 210 | (124 9%2/3) (mem) 12 (reg) 12 (reg)
z— 42 +66 %2436 =210 | (12+9%2/3) (mem) 12 (reg) 12 (reg)
y+ 42+ 66 %2436 =210 | (12+9%2/3) (mem) 12 (reg) 12 (reg)
y— 42466 x2 436 =210 | (124+9%2/3) (mem) 12 (reg) 12 (reg)
T+ 42 + 66 %2436 =210 | (12+9%2/3) (mem) 12 (reg) 12 (reg)

r— 42466 2436 =210 | (12+9%2/3) (mem) 12 (reg) 12 (reg/mem)
clover 600 (21 % 2) (mem) 12 (reg) 12 (mem)
total(wilson) 1632 132 (mem) 72 (reg) 12 (mem) 84 (reg)
total(clover) 2232 174 (mem) 84 (reg) 12 (mem) 96 (reg)

05 0000000000000 0O00O0O0O0ODOOCOSUB3)DD000(mem)0000/000000CO
O0000(reg) D00 O0O0D0O0OD0OUDODOOOODOD register 10000000000 0OO0O

ooogoo

Wilson hopping
(1632 flop):(144 complex)

11.33 flop/complex
0.08824 complex/flop

1.417 flop/byte(S.P.)
0.7059 byte,/flop(S.P.)

0.7083 flop/byte(D.P.)
1.412 byte/flop(D.P.)

Clover hopping
(2232 flop):(186 complex)

12 flop/complex
0.08333 complex/flop

1.5 flop/byte(S.P.)
0.6667 byte/flop(S.P.)

0.75 flop/byte(D.P.)
1.333 byte/flop(D.P.)

06 0000000000000 0OODODOOOSUB)DO00O0

50000000000000000000 500000000 Ns0000LO000000000
000000000000 LOD000LO0000000000000000000000 2000
00000000000000000000D0 200000000000000000000000
0000n 00000 +0000000000000060 -00000000000000 60
0024 lop0 000024 N; lop0LO000000000D0O0O0DOOO N2OOOODOOOOO
N;(Ns—1)0000000000 (+00 2000 -00200)000000000 120000
(N2 %2+ N5(N5 — 1) % 2) x 12 = 24(2N2 — N5) flop. O 0 24(2N2 — N5) + 24 * N5 = 48N?2 flopO
0000000000000 500000000000000000000000000 70800
OONs000000000000000000000000000000000000000000
00000000000000000000000000 Ns0000D000000 SU(3)00000
Do0oooooQd

N;<27000000000000 N,0000000000000000000000ONs>270
O00000 LO000000000O0O

O0000000000000000 k00000000000000000O0O0O0O000000
kxNsODDODOODODODODOOOOODODOOO0OO0O000D000000000000 kxNsOOO
0000000000000 0000001000000000000000000000D00O000
8x12xk+xN;*VOODDDDOOODOOOOO 2%12%k+ N5+ V(emplx) 00000000 kx NsO O
O¢i(s)000000000000000000 wi(n)*c¢i(s)0000000000000000O0OO
8x12xkx NsOODOO OOOOD 12«k000000000000000000 2%8%12%kx* N50O
0000000000 (2N5+1)12k0000
N;O0D0OO0ODDDOO0O000D00000ON;~16-3200000000000000000000
00000000000000000000000 40000000 NsO000000000500
O000000000000000OZorotalev 00000 NsOOODODOOODDOOOO0OOO



00 000 (fop) 0000000 (cmplx) 0000000 (cmplx)
t+ (66 % 2 4+ 12) x N5 (6% N5 +9) (mem) 12 % N5 (reg)
t— (66 % 2 4+ 12) x N5 (6% N5 +9) (mem) 12 % N5 (reg)
z+ (66 * 2+ 36) * Nj (12% N5 +9) (mem) 12 % N5 (reg) 12 * N5 (reg)
z— (66 2 4 36) = N5 (12% N5 +9) (mem) 12 x N5 (reg) 12 % N5 (reg)
y+ (66 * 2 + 36) * Nj (12 % N5 +9) (mem) 12 x N5 (reg) 12 % N5 (reg)
y— (66 * 2+ 36) * N5 (12 % N5 +9) (mem) 12 x N5 (reg) 12 * N5 (reg)
T+ (66 * 2 4 36) * N5 (12% N5 +9) (mem) 12 x N5 (reg) 12 % N5 (reg)
x— (66 * 2 + 36) * Nj (12 % N5 +9) (mem) 12 x N5 (reg) 12 * N5 (reg)
proj (OO 192K (2N5 + 1)12k(mem) 12 4 N5 (reg)
kN5 O ) kN5 + 12N5(I‘ )
L 48 x N2 (N2)/2 (reg) 12 Nj (reg) 12 % N5 (mem)
total 1296 N5 + 48N2 | 84Nj5 + 72 (mem) N2 /2 + 84N (reg) | 12N5 (mem) 96N; (reg)
total(proj) | (1290°+ 192005 + (8?4—24k)A%—%724—12k(naenﬂ 19N, (caemm) 108N (veg)
48 N3 Ng/2 + (96 + k)Ns (reg)
U rnsibddboboooboboboobooboobobobooooooOon
oo 000 (flop) 0000000 (cmplx) 0000000 (cmplx)
t+ | 424 (66 x 2+ 12) x N5 (6% N5 +9%2/3) (mem) 12 % N5 (reg)
t— | 424 (66 x 2+ 12) % N5 (6% N5 +9%2/3) (mem) 12 % N5 (reg)
2+ | 424 (66 %2+ 36) « N5 | (12 N5+ 9%2/3) (mem) 12 x N5 (reg) 12 % N5 (reg)
z— | 424 (66 %2+ 36) *« N5 | (12% N5 +9%2/3) (mem) 12 % N5 (reg) 12 % N5 (reg)
y+ | 42+ (66 %2+ 36) * N5 | (12 N5+ 9%2/3) (mem) 12 x N5 (reg) 12 * N5 (reg)
y— | 424 (66 %2+ 36)* N5 | (12x N5 +9%2/3) (mem) 12 x N5 (reg) 12 % N5 (reg)
x+ | 424 (66 %24 36) * N5 | (12 N5 +9%2/3) (mem) 12 * N5 (reg) 12 % N5 (reg)
x— | 42+ (66 %2+ 36) «x N5 | (12% N5 +9%2/3) (mem) 12 * N5 (reg) 12 % N5 (reg)
L 48 x N2 (N2)/2 (reg) 12 Nj (reg) 12 % N5 (mem)
total | 1296 N5 + 48N2 + 336 | 84Nj + 48 (mem) N2/2 + 84Ny (reg) | 12N;5 (mem) 96N5 (reg)

08&50000000000000000DO0OUOOO0ODOOOOOOOSUB)DOOOO

oo ogooooooon U

00000000000000000000000000000000000000000000
0000000000000000000000000000000000F: 000 (Flop)dS : CPU
00 (GFlop/sec)ON:O 000000000 (Byte)DB:000000 O (GByte/sec) 1000000
0000000 7T000000000000000000000000000

T = F/S+ N/B,

0000000000 O0000d0 SegO

gboooooo

BF
Seff = F/T - m7

(B/S)F+ N’

(63)

(64)

(65)




O000F/NOOOOOOOB/SOUOOOODOOOOOOOUOOOOODOUOOOOOOOODOOO
goog

010 Wison OO0D0000O00O0O00O0O0OOOOOOOOO0OOOOOOSUB)0000oo
000000000 Byte/Flop00OODDOO0OOO 900000000 OOOOOOSUB)ODO0OOOO
000000000 Byte/Flopd 01 0000000000000D0DOOOOOOODODOOOOO
ggobobooboboooobbi10oboboooooobbooooobooo 1obbbooooooo
000000000000 00000000000000000 Byte/FlopO 100000000 3
oo4000000400500000b000000

0.1

0.01

Flop/sec-Efficiency

0.001 -
0.01 0.1 1 10

Machine Byte/Flop

0 1: Wilson 000000000000 Byte/FlopO OO



SU(3) 0 00O | Machine Byte/Flop | OO 0 00
O 0.1 D.P | Wilson | 0.046
O 0.1 D.P | Clover | 0.053
O 0.1 S.P | Wilson | 0.088
O 0.1 S.P | Clover | 0.101
O 1 D.P | Wilson | 0.33
O 1 D.P | Clover | 0.36
O 1 S.P | Wilson | 0.49
O 1 S.P | Clover | 0.53
O 2 D.P | Wilson | 0.49
O 2 D.P | Clover | 0.53
O 2 S.P | Wilson | 0.66
O 2 S.P | Clover | 0.69
a 0.1 D.P | Wilson | 0.066
O 0.1 D.P | Clover | 0.070
O 0.1 S.P | Wilson | 0.12
O 0.1 S.P | Clover | 0.13
O 1 D.P | Wilson | 0.41
O 1 D.P | Clover | 0.43
O 1 S.P | Wilson | 0.59
O 1 S.P | Clover | 0.60
O 2 D.P | Wilson | 0.59
O 2 D.P | Clover | 0.60
O 2 S.P | Wilson | 0.74
O 2 S.P | Clover | 0.75

020005000000000000000000000O0O00O0COOOOOSUB)ODOOOO
goboogb iwoboobosbuoobooobooboobuoobooboooboooboooooonn
00000 Byte/Flop0.10 000000000 10%00 15%00000 20%027% 0000 Wilson
goobgoooobooboboobo LoboooboboboobboboboboooooooooboobooooD
U000b00O0ONs>2r000000 LOOOOOOOObOOOOONsOOOoOooDbODbOobooo

O 9: Wilson OO 0ODO

goodooobooobooboboood




Flop/sec-Efficiency

0.01

Eff- 5D(32)

0.01 0.1

1

Machine Byte/Flop

10

Flop/sec-Efficiency

o©
[N

0.01

SU(3)-rec.Eff-5D(12)(D.
SU(3)-rec.Eff-5D(16)(D.
SU(3)-rec.Eff-5D(24)(D.
SU(3)-rec.Eff-5D(32)(D.
SU(3)-rec.Eff-5D(12)(S.
SU(3)-rec.Eff-5D(16)(S.
SU(3)-rec.Eff-5D(24)(S.
SU(3)-rec.Eff-5D(32)(S.

0.01

0.1

1
Machine Byte/Flop

02 0050000000000000 Byte/FlopOOO

sU3)0D000000000

Machine Byte/Flop | OO | N5 | OO
0.1 D.P | 12 | 0.103
0.1 D.P | 16 | 0.114
0.1 D.P | 24 | 0.134
0.1 D.P | 32 | 0.153
0.1 S.P | 12 | 0.187
0.1 S.P | 16 | 0.204
0.1 S.P | 24 | 0.236
0.1 S.P | 32 | 0.265

1 D.P | 12 | 0.534
1 D.P | 16 | 0.562
1 D.P | 24 | 0.607
1 D.P | 32 | 0.643
1 S.P | 12 | 0.696
1 S.P | 16 | 0.720
1 S.P | 24 | 0.756
1 S.P | 32 |0.783
2 D.P | 12 | 0.696
2 D.P | 16 | 0.720
2 D.P | 24 | 0.756
2 D.P | 32 | 0.783
2 S.P | 12 | 0.821
2 S.P | 16 | 0.837
2 S.P | 24 | 0.861
2 S.P | 32 | 0.878

0 10: 500000000

OWilson 000 SUB)ODO00O0OO0OOOODO0DOOOOOODOODOOD
ubobgboobooboboobobobobobboouooboobbbuoooboboooooo

10



00000000 (e3)0o00000000osy@)oooo0ofdooooooooooooooooo

Fy, Ny, Top=Fy/S+ No/B, (66)
0000Su@3) 00000000 oooooooooooooo
F., N., T,=1F./S+ N,/B, (67)
0000SUB) 0000000000000 ooO0DoDoUooooooD (0)o
a=F,/Fo, b=N,/No, (68)
O00o0oooooOOooooo (O0)Ho
T,/Ty = W (69)
sTH
OO000OWilson O0O0O
a=1632/1296 = 1.26, b= 144/168 = 0.857, Ny/F, = 168/1296 * z = 0.1296 * z, (70)
(20 complex 00000000 )0 Clover 0 OO
a = 2232/1890 = 1.18, b= 186/210 = 0.886, No/Fy = 210/1890 % z = 0.1111 * 2, (71)

good

0300 (6900000000000 Byte/FlopO0OOOO 0100000000 10%0000
000000000000 0000O0D0OC0C0OO0ODODO000ODOO0O0O0ODO Byte/FlopO 0500
000000000000 000O0O00OByte/Flop0 10000000000000O0O0O0OOO
0000000000000 00000000000 Byte/FlopOOOOOOOO SUB)ODOOOO
0000000000 0000000C00O Sy@)oDooooooooooo0oooooooOoooDO
00000000000 Byte/FlopOOOOODOOOOOODO SUB)ODOODODODODOOOOOOOO
obbooooooobobobboon

oobobooooooooooooooooggoobbobobboogboobobboobobOoD
ooobobobooogooo

1.04 + Wilson(D.
Clover(D.

1.02 + Wilson(S.
S.

P
P
P
Clover(S.P

. /
/
’
. /
/
/
,,,,,,,,, /
. ) -
,
)
P
. /
/

©0.98 | 1
0.96 | :
0.94 | _

Timing gain T,/T

/
/
/
- 4 .
%
. /
/
/
/
%

©
(o]
T
1

0.88 |
0.86 k=" |

0.84 : :
0.01 0.1 1 10

Machine Byte/Flop

0 3: 0000000 SUB)0ooooooooooog



gooog oboooboboboobooooboboobbobooobboboboobboooooon
gooboooboooooooooooobooooboboobboobobboobbbboooobon
gbooooboobboooobboooobooobobooooboboboooobobboobbboobooog
gboboobooboboobbbooooboobboboooooooboooobobooboobOobo
goboboobobobooooboooobobobooooong...... gobobooboooboboogon
gbooboboooooobboobobobbboooobbobobooooooboonbobobobDbn

0000000000o00o0o0o00000o0ogoo0o00D (bo)boooooOoDOoOoO0oOoo
000000000000 00000000000000000000000O0OOOoOoOOO (OoO)
gobogoobooboboooboboooobobooboboboooooobooboboobooaogon
gooooooooboonbon

ubobooboboboobobobooboboooboboboooboooboboooobobono
gboobooboboobooboobooooooob obooobooilebobbonbboo
uddlebobooouooooboboobbobooobooooooboboobobobon 10000
gooroobogobioooooo ybobobbobooobobobboooboboboooDbDbO
gobooorobooboboooooooobobobobooooboboboobob0ooooobooon

ooQCcboooopoooooboooboO0 KOoooooooooboooooooooooooo
0000 m,000000 «00000am, 000000000 O0(1)000 (Free wilson 00000
8+amy)00000 1/am, 0000000000000 v,d0000O0 my~2MeVOODOOOOO
00 1/a~2GeV-4 GeVOOOOO

K ~1/amg ~1x10% ~ 2 x 10?, (72)

ooo00o0ooo30400000000vy000oo0ooo0ooocoooooooooooooooan
DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD(DDD
IntelSSEDDDDDDDDDDDDDDDDDDDDDDDD)

0000000000001 »oooooo00ooooooooo 100000300000
goootooooooboooooobooooooooooono oo oo ooocouoooon
Oo000ooboo0oooOnNpp O0O00O0O0OO0O0OO0OOOO0OOO0OOOOO0OO0 Nyp OOOOOOO
goooooooood o

Nup. = Npp.a, (73)

0000000000000 aez210000e>20000000000000
gboobogoooboobooboobobgo 200b000b000b000b0b00o0O00DbDOb00o00o

gobbooooboboboooooboooboooobbooobo0 Iyp U0oooOOoooOoOODLO

gboboooog Ipp00bboboooobobboooobobobooobooobon

Tvmp. = CcImatvees.p.NMp. = cIsp . Npp.a, (74)
Ipp. = CImatveed.P.ND.P., (75)

oboocO00bo0obobboobon

- Y

1 1
M.P. _ {matvecS.P. a (76)
Tp.p. TrnatvecD.P.

U0o0o0oobooobouob0ouoobD Thatvec BO0ODO0O0OOOODOODOOOODODOODO
oo0o0000o0oooooooooooOb0 FOOOOOOO Npp,NspOODODOO Spp,Ssp. 00O
OO0 pO0oO0ooooobDOoOOoOoogD

F Yy

TmatvecD.P. = g + %P.7 (77)
F N

TmatvecS.P. = 5P (78)

Ssp. | B



gogogooboboboon

Trp. B/Ssp. + Nsp./F N

Ip.p. B/Spp.+ Npp./F

B/Spp.(Sp.p./Ss.p.) + ND.P./F/2a
B/Spp.+ Npp./F ’

B/Sp.p.(25p.p./Ssp.) + Nop./F a

_ , 79
B/Spp. + Npp./F 2 (79)
000000000000000000000 (28pp./Ssp)=1000
TM P [0
— = — 80
Top 2 (80)

O000e<20000000000000000000C0O0O00COOOOOOO (25pp./Ssp.) =2
gdn
Twp. _ 2B/Spp. + Npp./Fa

Top. B/Spp.+Npp /F 2’

000D000000000000 Npp/F~200000000B/Spp, <100 Tap./Tpp. ~ a/20
0000B/Spp. ~ 100 Tap./Top. ~ 3a/20B/Spp. > 100 Tip./Top. ~a0000000
0000000000 B/Spp. <10 a<3/2000000000000000
500000000000000000000000000000500000000000000
0000000000005 000000000000000000000000000000000
000000000000000000000000000000000000000000000
0000000000 20 (A=DsDl, 0000 A=D!,Ds)00000000000000200
000000 AD0DODO0ODO0000000 20000000 Dyy0000000 am,00000
0000000000000000000

(81)

5 Uugoon

Do0ooboobooooooooooooooooobooo Viede=m, My, m=m3n, 0 000
ocoooobi1ooboobobooboobbOoOobob0obDbooDbDbO0obOOobbObOOobUoboboOoD

0000000000000 (00oo0)00U0000U00U0 4000 10000000 DOOO0OO
oo0o0o0(0U0b0)0000O00O0OU04000000000300000000 220000000
oooooogoog

000000000000000 M2M,000000 M:O00D00D00O0000O0000O0OOO0
obobbo0o0o 1200000s50bgboob 12NsO0D0Db00obbO0o0obo0DobDOoobODDoOoDbo
000o0dDOOo00O0oO0DOOO0O0O00DOOO00OODOO0ODODDODO0OO0O0ODOOOd

0000000000000 oOOoooDoOOoooOoOoOOoOoMPIOOOOOOOOOOOODOOODO
000000000000D000000 Ty, 000000000000 B Byte/see 000000
OO0 BO0O0O0O0O0O0ODLOO TysechDOOOODOOOODbDOOODOODOODDODODODO
0000000 memory - CPU —memory 00 000000000000 OO0OOOOOOOODOO
OO0D0D0O0O000O0000000 memory —» CPU - memory DO DOOOOOOODO

300000000 0000000bDO00 Teomm U

Bp

1 3
Toomm = —— | Ti1Bg +12% 2= (14228 ) Vioae | 82
BB<lB+ *ZME(+B> d) (82)

00000000 00000000 2=16(000),8(000)Byte05000000 2= Nsx16(0
00), N5 8 (000 )Byted



400000000 DOO0ODODODDOO0 TeommU

1 1 3 B
Teomm = 373 (TZBB +12% 2 <M + M> <1 + 2BB> Vnode) ’ (83)
t T

00000000 00000000 2=16000),8(000)Byted5000000 2= N5x16(0
00), N5 «8 (000 )Byted

uoobooogodb obouoobboobbobooboobbobooboboboooboooo
ubboouboboooboboood

goboboobobobobbobboooooboboooooo 1, 3000000000000 15,160
ugod

00000000000 Thatvec 1000000000 73,000000000 T6,000000 Ty O
ool Teomm O OOO O

Tratvec = sync T maX(Tim Tcomm) + Tout, (84)

ggooboooobooboobooobbbooobbbooouooooboooooobobbboonon
ubobbooboooobooboooboobboobooboobboooooo
ooooodoodooooobooooonooood T, 0000000000000

Tmatvec = Torg * /37 (85)
ﬁ _ T;atvec7
org
_ maX(T‘ina Tcomm) + Tout ’ (86)
Torg
000000000000
000 (flop) 0000000 (cmplx)
oooag 144 % 2M3 M, 15 % 2M3 M,

0000 (00) 3% 168 % 2(M, — 1) M2 M, 3% 21 % 2(My — 1)M2M,(+12M2M,)
clover(0 O) 60003 M, 21 % 2M3 My + 12M32 M,
total(wilson) (1296 — 1008 /M) Vnode (168 — 126 /M) Vaode
total(clover) (1896 — 1008 /M) Viode (210 — 126 /M3) Viode

0000 (0O0) 3 % 168 * 2M2 M, 3% 21 % 2M7Z My + 3 % 12 % 2M2 M,
clover(0 O) (600 + 24) (M2 — (M, — 2)3) M, (21 % 2+ 2% 12)(M3 — (M, — 2)%) M,
total(wilson) (1008/My ) Viode ((126 + 72) /M) Viode
total(clover) | (1008/M, + 624(1 — (1 — 2/M)*))Viode | (198/M +66(1 — (1 — 2/M,)3)) Vaode

011: 0000000300000000000000(00000000000000000000
oo)




000 (flop) 0000000 (cmplx)
oooag 186 * 2M 3 M, 12 % 2M3 M,

0000 (00) 3% 210 % 2(M, — 1) M2 M, 3% 18 % 2(M, — 1) M2 M, (+12M2 M)
clover(0 O) 60003 M, 21 % 2M3 My + 12M32 M,
total(wilson) (1632 — 1260/ M.,.) Viode (144 — 108/ M) Vaode
total(clover) (2232 — 1260/ M) Viode (186 — 108/ M) Viode

0000 (00) 3% 210 x 2M2 M, 3x 18 % 2M2M; + 3 % 12 % 2M2 M,
clover(0 O) (600 + 24) (M2 — (M, — 2)3) M, (21 % 2 4+ 2% 12)(M2 — (M, — 2)3) M,
total(wilson) (1260/M,) Viode ((108 + 72) /M) Vaode
total(clover) | (1260/M, + 624(1 — (1 — 2/M)*))Vaode | (180/My + 66(1 — (1 — 2/M,)3)) Vaode

0122 000000SUB)0000030000000000000DO (000000 OoOoOOoOo
oooooooono)

000 (flop) 0000000 (cmplx)
Dooo(o0) 144 % 2M3 (M, — 1) 15 % 2M3(M; — 1)
0000 (0D0) 3% 168 % 2(M,, — 1) M2 M, 3% 21 % 2(My — 1) M2 My (+12M2 M)
clover(0 O) 60003 M, 21 % 2M3 My + 12M3 M,

total(wilson) | (1296 — 288/M; — 1008/ Myg)Vaode | (168 — 30/M; — 126/ M) Vaode
total(clover) | (1896 — 288/M; — 1008/M,)Viode (210 — 30/M; — 126 /M) Viode

0000 (o0) 144 * 2M3 15 % 2M3 + 12 % 2M3
0000 (00) 3% 168 x 2M2 M, 3% 21 % 2M2M; + 3 % 12 x 2M2 M,
24)(M3M; — 21 %2+ 2% 12) (M3 M; —
clover(O O) (600 + 3)( v (2L +3 * 12) (MM,
(M, — 2)3(M; — 2)) (M, — 2)3(M; — 2))
total(wilson) (288/ My + 1008 /My ) Viode (54/M; + 198/ M) Vaode
288/ My + 1008 /M, + 624(1 — 4/M;+198/M,, 1—(1-
total(clover) (288/M; + 3008/ + 624( (54/ §+ 98/ My +66(1—(
(1 - Q/Mx) )(1 - 2/Mt))Vnode Q/Mx) (1 - 2/]Wt))vnode

0 13: 0000000400000000000000(00000000000000000000
oo)



000 (fop)

0000000 (cmplx)

clover(D 0O)

0000 (O0) 186 * 2M3(M; — 1) 12 % 2M3(M; — 1)

0000 (o0) 3% 210 % 2(M, — 1) M2 M, 3% 18 % 2(M, — 1)M2M,(+12M2 M)
clover(0 O) 60003 My 21 % 2M3 My + 12M32 M,
total(wilson) | (1632 — 372/M; — 1260/M,.) Viode (144 — 24/M; — 108/ M) Viode
total(clover) | (2232 — 372/M; — 1260/My)Vaode (186 — 24/M; — 108/ M) Vyode

D000 (00) 186 * 2M3 12 % 2M3 + 12 % 2M3

0000 (00) 3% 210 % 2M2 M, 3% 18 x 2M2M; + 3 % 12 x 2M2 M,

(600 + 24)(M3M; —
(M — 2)*(M; — 2))

(21 %24+ 2% 12)(M3M; —
(M, — 2)°(M,; — 2))

total(wilson)

total(clover)

(372/My 4+ 1260/ M) Viaode
(372/M; + 1260/ M, + 624(1 —
(1 - 2/Mx)3)(1 — 2/]wt))vnode

(48 /My + 180/ M) Viode
(48/M;+180/ M, +66(1— (1—
2/Mx)3(1 — 2/Mt))vn0de

0 14:000000SUB)0000040000000000000DO (DODODU0DO0DOOOOOOOO

oooooooono)

000 (flop) 0000000 (cmplx)
oooo 144 % 2N5 M3 M, (6N5 + 9)2M3 M,
0000 (00) 3% 168 x 2(M,, — 1)Ns M2 M, 3(12N5 + 9)2(M,, — 1) M2 M,
proj 192k N5 M3 M, (2N5 + 1)12k M3 M,
L(OO) 48 N2 M3 M, 12N5 M3 M,
total(5deff) (1296 — 1008 /M, + 48 N5)N5Viode | (96N5 + 72 — (72N5 + 54) /M) Viode
total(5deff-proj) (1296 — 1008 /M., + 48 N5 + (96 N5-+T72—(72N5+54) /M, +
192]€)N5Vn0de 12]€(2N5 + 1))Vn0de
0000 (00) 3% 168 x 2N5 M2 M, 3(12N5 + 9)2M2M; + 3 % 12 % 2N5 M2 M,
L(oo) 48NZ (M3 — (M, — 2)3) M, 12 % 2N5(M32 — (M, — 2)3) M,
total(5deff) (1008/M, + 48(1 — (1 — ((144N5s + 54)/M, +
2/M$)3)N5)N5Vn0de 24N5(1_(1_2/Mx)3))vnode

015 5000000300000000000000((@O0O0000OOO0OO0O0OOOOBOOO

oo)




000 (flop) 0000000 (cmplx)

0ooo(oo) 144 % 2Ns M3 (M; — 1) (6N5 + 9)2M3(M; — 1)
0000 (00) 3% 168 % 2(M, — 1)Ns M2 M, 3(12N5 + 9)2(M, — 1) M2 M,
proj 192k N5 M3 M, (2N5 + 1)12k M3 M,

L(ODO) 48 N2 M3 M, 12N5 M3 M,
total(5deff) (1296 — 288/M; — 1008 /M, + (96 N5+72—(12N5+18) /M —
48 N5) N5Viode (72N5 + 54) /M) Viode

(96N5+72— (12N5+18) /M; —

1296 — 288 /M; — 1008 /M,
( /My /Mo (T2N5 + 54) /M, + 12k(2N5 +

total(5deff-proj
ota ( e pI“OJ) 48]\[5 + 192k)N5Vnode

1)) Viode
Ooo00 (00) 144 % 2N5 M3 (6N5 + 9)2M3 + 12 % 2N5 M3
0000 (o0) 3% 168 x 2N5 M2 M, 3(12N5 + 9)2M2M; + 3 % 12 % 2N5 M2 M,
L(O0O) ASNZ (M2 My — (My — 2)3(My — 2)) | 12 % 2N5(M2M; — (M, — 2)3(M; — 2))

((78N5 + 18)/M; + (144N; +
54) /M, +24N5(1—(1—-2/M,)3(1—
2/M?)))Vaode

(288/M; +1008/ M, +48(1 — (1 —

total(3defl) o N Y1 = 2/M,))No) N3 Viode

016: 5000000400000000000000 (00000000000000000000
oo)

6 LUUObOoboobooubobuoboboboboobbobn

goobboobolgbooooooboobobobobobbobboooobooobbbobbbboo
0000000000 (boooooo0 ceUODOOUOOOUO)0DOOOULDOOOODOOOO
000000000000000000D0000D040000000000 V=N40OOOOOOOO
00000000 DODOO0DO0000O00DOO0ODODDOODODOOO0ODOOODOBICGStabODCGODO
ogoboboooooooboo

0000 (ecmplx) | (S.P.) Byte | (D.P.) Byte
ooooo 3x 3 x4V =36V 288V 576V
00000 (SUB)00) | 3x2x4V =24V 192V 384V
00000000 3x 4V =12V 96V 192V
oooood 21 x 2V =42V 336V 672V
5000000L NZ/2 4NZ 8NZ

o1l vioooog



ooo /v

000000 (cmplx)/V

Wilson D =1 - xM
Clover D=1—-xF 1M

48 + 12963 [48 + 16327]
48 + 18960 [48 + 22323

168 + 12 [1440 + 12]
2103 + 12 [1868 + 12

5D-eff. A= DI, Ds,
5D-eff. (shift proj) (O
O 2kNs0=1000

0)

(48N + (1296 N5 + 48N2)3) x 2

(48N5 + (1296N5 +

((96N5 4 72)3 + 12N5) * 2

(((96 + 24Kk)Ns + 72 +

48 N2 + 192k N5)3) * 2

12k)3 4+ 12N5) * 2

018 0000000000000 000000000000 SUB)Uooooooooopoo0
goooooooon

good goodob |dodo0b0b |ooob0obb |oooo yooboo
oo oo v=v+aa gooo
0000 3 1 2 (a=1) 0 1)
CG 5 1 3 (avreal) 1 1
BiCGStab 7 2 6 (a:cmplx) 3 1+(2)

019 Az =0000000000000000000000010D0000DODODO0OODOO0OOO0
gobmoooooboooboboooboooboboboooboobooobobobobbbono
gobooboboooog

ooooo 000 |0000 (emplx) | 0000 (cmplx) | (ecmplx/flop)
v=v+a 2 2 1 3/2
v=v+ aa (a: real) 4 2 1 3/4
v =v+ aa (o cmplx) 8 2 1 3/8
(plg) 8 2 0 2/8
ks 4 1 0 1/4

020 0000000000000000O000OO0OO0O0ODO (DOO)DODDODODODUODUOODOOOOO
goboooboboooooogooooobbooboboooogboooboo 120050000000000
O 12xN500

goboboooonb bD21-23000000000000000000

10000000000 Tiger O
F N

stE
O0DO00FOOO0 (Flop)ONOODOOOOODO (ByteyOBOOODOOD O (Byte/sec)d SO 00
00000 (Flop/sec) DOOOO0OO0OOO0O0O0O0O0OO CGOOOOODDOOOOOOOOOODO

T‘iter — (87)

m
.- K—1
llze = @mll2 <o2W/K VK , (88)
|2+ — 2oll2 VK +1
D0DDADDOOODKDO AD0OD002,00000 mOO000002,00000]|...[0 2-

ggoobboooooooooooooobo

o [



~ 0D00000: 000 2000000 (CGOOO K ~ (1/amg)? ~ 10%)0 (BiCGStab 0 0 O
0 100000 0)

— 500000:000 100001000000 O0D0O0OOO7?

o [

- 000D00O0:000 10000 000(BiCGStabO OO0 500000)000000 20000cx

— 500000:000 5000500000 000007000000 (1000 10000)c.

000 (cmplx) 000 (Flop) 000000 (cmplx) ooo0o
Wilson 72V (144 + 12963)V (96 + 1683)V 1
Clover 114V (144 4 18968)V (96 + 2108)V 1
Wilson(SU(3)rec.) 60V (144 + 16328)V (96 + 1445)V 1
Clover(SU(3)rec.) 102V (144 + 22328)V (96 + 1860)V 1
5D-eff. 12(4N5 + 3)V | 96N5(2 + (27 + N5)B)V | 12(9N5 + 4(3 + 4N5)3)V 1
5D-of. (shift-proj) 12(4N5 +3 + 96N5(2+ (27+ N5+ 12(9N5 +2(6 + 8N5 + A
2k)V 4k)B)V k 4+ 2kN5)B)V

O21:000000000 100000000 000DOOO0DOO0O0ODOOOORD-eff.0D0ODOOO
ooooboooooogno 1ob00ooooon

000 (cmplx) 000 (Flop) 000000 (emplx) | OO0OO
Wilson 108V (384 + 25925)V (168 + 3368)V 2
Clover 150V (384 +37928)V (168 + 4208)V 2
Wilson(SU(3)rec.) 96V (384 + 32648)V (168 + 2885)V 2
Clover(SU(3)rec.) 138V (384 + 44645)V (168 + 3728)V 2
5D-eff, 12(6N5 + 3)V | 96N5(4 + (27 + N3)B)V | 24(TN; + (6 + 8N5)B)V 2
5D-eff. (shift-proj) 12(6N5 + 3 + 96N5(4 + (274 N5 + 24(7N5 + (6 + 8N5 + 2+ [kNs]
2k)V 4k)B)V k +2kNs5)B)V

022 CGOOODODO100000DO00O0DOODOOOODODOOUOOODOUODOOsSD-eff0dO0
CGOO0ODODDODOODOOOOOMatvecO 200000000000 O00O000ODODOODOO

000 (emplx) | 000 (Flop) | 000000 (emplx) | 0000
Wilson 120V (1104 + 25928)V (348 + 3363)V 6
Clover 162V (1104 + 37928)V (348 + 4208)V 6
Wilson(SU(3)rec.) 108V (1104 + 32648)V (348 + 2883)V 6
Clover(SU(3)rec.) 150V (1104 + 44643)V (348 + 3728)V 6

O 23: BiCGStabO OO OO 10000000000 DODDODOOCDOO0OO0OOOR-ef00nnonog

gooogo

ubbobbud obodooooobuobboobbooooooboboon

e J00O0DODODO (0DODO):

— 0O0Oooo S [Flop/sec| (Ssp:000, Spp:000)



— 000000000 B [Byte/sec]

— 0000000000 O Beache [Byte/sec]

~ 0000 1010000000000 Bg [Byte/sec
— 000000 Tyyne [sec]

— 000000 Tied = Tsyncy [sec]

- 1010000000000 T [sec]

— 0O0000OoOOooOoOoooooooooog g

e JJDUDOOUDD (BOUOLDODO):

- D000D00 V=N2N

- D000000000 Vaede = M2M,

- 00D0D00000000000000 Nied.p.

- 000000DDDD000D0000000 Ngermp, = @NiterD.P.

e 00O OODOOODDOODLODODODDOOODODOOODOODDOOODDLODODLOOD
gbooobooboooooooobooboobobobbbooobboo

e OUO0OOOODLOODODOOODLODOOODLODOOOODLODLOODLDODOODbLDOObLObOOn
gbobooboboouooobobulbl «booon

e 00000000 Th¢00000000 Thyne 000000000000 Tyeq = Tagney D000
0000000000000 00D0000000000000000
1. 000000000000000000000000

2.000000000DbO00bO00bOo00ooDbOobOob0o0ooooooooobooo0ooDoo
gboooooboooogoo

. 00b0ooboooobobbobooboboooboobobobobobDbbo
4. 0000000000000 O00O0OO0bO0O0b00ob0ooboobobooooo0oogn

v Ooooodgd

ODO0000000000 12840000000000000000000000000000000
ooooooooo

0000 Tyne 00000 Thequ 0 0000000 00000000000 ;0000 00 Nyoge D
oDoo

Tsync = 21OgQ(A]\/vnode)XTl? (89)
Tredu = 2Tsyn0a (90)

oood

0o Viode | N5 | k
P1 44 32 | 24
P2 g4 32 | 24
P3 164 32 | 24
P4 [163x32 | 32 | 24

O 24: 000000000000 0ONs,k



RN cache CPU speed mem. bw | comm. bw | comm. latency
[Byte],[Byte/sec| | D.P.,S.P.[Flop/sec| | [byte/sec| | [byte/sec] [sec]
A AM, 64 G 64 G, 128 G 64 G 10 G 5 1
B 8 M, 128 G 128 G, 128 G 64 G 5 5
C 16 M, 256 G 256 G, 512 G 128 G 5G Ly
D 128K, 128 G 512 G, 1024 G 128 G 50 5
E 128K, 512 G 1024 G, 2048 G 256 G 5G O W

025 000000((QU00000) 00000000000 OLOUOOOOOOO

RN

#node

Time/iter
[sec]

Mult
[%]

Reduction

[%]

Niter

Time

[sec]

(PLA)

(P1,B)

clover
clover(su3rec)
Sdeft
5deff(proj)

1048576
1048576
1048576
1048576

2.881073(2.841073)
2.881073(2.841073)
3.321073(2.261073)
8.241073(5.271073)

15.9(15.1)
15.9(15.1)
64.1(55.9)
88.7(88.3)

83.2(84.4)
83.2(84.4)
24.1(35.4)
9.7(15.2)

10000
10000
10000
10000

clover
clover(su3rec)
Sdeff
5deff(proj)

28.8 (28.4)
28.8 (28.4)
33.2 (22.6)
82.4 (52.7)

(P1,0C)

clover
clover(su3rec)
Sdeff
5deff(proj)

(P1,D)

clover
clover(su3rec)
Sdeff
5deff(proj)

(PLE)

clover
clover(su3rec)
Sdeff
5deff(proj)

0 26: P1ODODO

ggoog




Algorithm 1 0000

Algorithm 3 CG

1
2
3
4:
5
6
7

: input z,b, Solve Ax = b.
: o= |b|
: while |r|/oc > € do

v=Ax

r=b—vw

r=x+r
: end while

Algorithm 2 BiCGStab

1:
2:
3:
4:
5:
6:
T
8:
9

10
11
12
13
14
15
16:
17:
18:
19:
20:
21:
22:
23:
24:
25:
26:
27:
28:

input x,b, Solve Az = b.
q= Az
r==b— Az

7 =r (7 can be arbitrary.)

p=r
o = [b|
po = (Flr)
for do
q=Ap
a = po/(Flq)
rT=x+ap
r=r—aq
if |r|/o < € then
exit
end if
t=Ar
w = (tlr) /It?
r=x+wr
r=1r—wl
if |r|/o < € then
exit
end if
p = (rlr)
B = (a/w)(p/po)
po=p

b=p—wq
p=r+0p
end for

1: input x,b, Solve Az = b.

q = Ax
r=b— Ax
p=r
o = [b|
po = |r
for do

q=Ap

a = po/(pla)

rT=x+ap

‘ 2

© % > T s w

—_ =
= O

r=r-—aq

p=Irf?

if |r|/o < € then
exit

end if

B=p/po

po=p

18 p=r+0p

19: end for

e e e e e
U Sl R




